# $\overline{\text { Annals of }}$ <br> Pure and Applied <br> Mathematics 

www.researchmathsci.org
DOI: http://dx.doi.org/10.22457/apam.v24n1a07837
On the Diophantine Equation

$$
(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2} \text { where } p \text { is a Prime Number }
$$

Vipawadee Moonchaisook ${ }^{1^{*}}$, Watakarn Moonchaisook ${ }^{2}$ and Khattiya Moonchaisook ${ }^{3}$<br>${ }^{1}$ Department of Mathematics, Faculty of Science and Technology<br>Surindra Rajabhat University, Surin 32000, Thailand.<br>E-mail: mathmodern@gmail.com<br>${ }^{2}$ Computer Technology, Faculty of Agriculture and Technology Rajamangala University of Technology Isan, Surin campus, Surin 32000, Thailand.<br>E-mail: Watakarn.mo@rmuti.ac.th<br>${ }^{3}$ Science and Mathematics, Faculty of Agriculture and Technology Rajamangala University of Technology Isan, Surin campus, Surin 32000, Thailand.<br>E-mail: Khattiya.no@rmuti.ac.th<br>* Corresponding author

Received 22 July 2021; accepted 29 August 2021
Abstract. In this paper, we consider the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ where $\mathrm{p}>3, \mathrm{p}$ are primes and k is natural number, when $\mathrm{x}, \mathrm{y}$ and z are non-negative integers. It is found that the Diophantine equation has no nonnegative integer solution.
Keywords: Diophantine equations, exponential equations, integer solution.

## AMS Mathematics Subject Classification (2010): 11D61

## 1. Introduction

The Diophantine equation has been examined by many researchers. It is considered as one of the significant problems in the elementary number theory and the algebraic number theory. In 2014, Suvarnamani, [12] proved that the equation $p^{x}+(p+1)^{y}=z^{2}$ has a unique solution $(p, x, y, z)=(3,1,0,2)$ when $p$ is an odd prime and $x, y, z$ are nonnegative integer, Additionally, in 2018, Kumar et al., [8,9] showed that the non-linear diophantine equation $p^{x}+(p+6)^{y}=z^{2}$ has no solution. In this year, they proof that $61^{x}+67^{y}=z^{2}$ and $67^{x}+73^{y}=z^{2}$ has no solution, where $x, y, z$ are nonnegative integers, where n is a natural number. Burshtein [2,3] also proved that the Diophantine equation $2^{2 x+1}+7^{y}=z^{2}$ and showed that solutions of the Diophantine equations $p^{3}+q^{3}=z^{2}$ and $p^{3}-q^{3}=z^{2}$ when $p, q$ are primes have no solutions. Moreover, Fernando [7] showed that the Diophantine equation $p^{x}+(p+8)^{y}=z^{2}$ has no solution in positive integers, when $\mathrm{p}>3$ and $\mathrm{p}+8$ are primes, Kumar et al., [10] proved that the solution of exponential Diophantine equation $p^{x}+(p+12)^{y}=z^{2}$, has no non-negative integer solution., when $\mathrm{x}, \mathrm{y}, \mathrm{z}$ are non-negative integers, p and $\mathrm{p}+12$ are

## Vipawadee Moonchaisook, Watakarn Moonchaisook and Khattiya Moonchaisook

primes, let p is of the form $6 \mathrm{n}+1$, where n is natural number. In 2020, Burshtein $[4,5,6]$ showed that the diophantine equations $p^{4}+q^{3}=z^{2}$ and $p^{4}-q^{3}=z^{2}$ when $\mathrm{p}, \mathrm{q}$ are distinct odd primes have no solution. In the same year, he proved that the Diophantine equation $p^{x}+(p+5)^{y}=z^{2}$ when $p$ is prime where $p+5=2^{2 u}$ has no solution ( $\mathrm{x}, \mathrm{y}, \mathrm{z}$ ) in positive integers and proved that the solution to the Diophantine equation $p^{x}+q^{y}=z^{3}$ when $\geq 2$, q are primes, $1 \leq x, y \leq$ 2 are integers. In 2021, Moonchaisook [11] proved that the non-linear Diophantine equation $p^{x}+\left(p+4^{n}\right)^{y}=z^{2}$ has no solution, when $p>3, p+4^{n}$ are primes numbers, when $\mathrm{x}, \mathrm{y}$ and z are non-negative integers and n is positive integer, this year Aggarwal [1] (2021) studied solutions to the exponential Diophantine equation $\left(2^{2 m+1}-1\right)+13^{n}=z^{2}$ where $\mathrm{m}, \mathrm{n}$ are whole numbers, has no solution in whole number.

Because of this open problem, the author is therefore interested in proving that the Diophantine solution $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$, has no non-negative integer solution, when $x, y$ and $z$ are non-negative integer, where $p>3$ and $p$ are primes, $k$ is positive integer.

## 2. Basic results

Lemma 2.1. The Diophantine equation $1+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution in nonnegative integer $y$, $z$ where $p>3, p$ are primes and $k$ is positive integer.
Proof: Suppose the Diophantine equation $1+\left(p+2^{k}\right)^{y}=z^{2}$.
Since $\boldsymbol{p}>3$ and $p$ are primes of the form $p=4 N+1$ or $p=4 N+3$ where $N$ is positive integer. Then $p \equiv 1(\bmod 4)$ or $p \equiv 3(\bmod 4)$.
Now, $1+\left(p+2^{k}\right)^{y}$ is an even number. Then $z$ is even and $z^{2} \equiv 0(\bmod 4)$.
We consider in 3 cases as follows:
Case 1: If $y=0$, Then $z^{2}=2$ which is impossible.
Case 2: Suppose $p \equiv 1(\bmod 4)$
If $\mathrm{k}=2 \mathrm{n}, \mathrm{k} \geq 1, \mathrm{y}=2 \mathrm{~s}, \mathrm{~s} \geq 1$, then $1+\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\mathrm{y}} \equiv 2(\bmod 4)$
which is a contradiction since $z^{2} \equiv 0(\bmod 4)$.

$$
\text { If } k=2 n, k \geq 1 \text { and } y=2 s+1, s \geq 0 \text {, then } 1+\left(p+2^{k}\right)^{y} \equiv 2(\bmod 4)
$$

which is a contradiction since $z^{2} \equiv 0(\bmod 4)$.
If $\mathrm{k}=2 \mathrm{n}+1, \mathrm{k} \geq 0, \mathrm{y}=2 \mathrm{~s}, \mathrm{~s} \geq 1$ or $\mathrm{y}=2 \mathrm{~s}+1, \mathrm{~s} \geq 0$
then $1+\left(p+2^{k}\right)^{y} \equiv 2(\bmod 4)$ which is a contradiction since $z^{2} \equiv 0(\bmod 4)$.
If $k=2 n+1, k \geq 0, y=2 s+1, s \geq 0$ then $1+\left(p+2^{k}\right)^{y} \equiv 2(\bmod 4)$
which is a contradiction since $z^{2} \equiv 0(\bmod 4)$.
Case 3: Suppose $p \equiv-1(\bmod 4)$.
If $\mathrm{k}=2 \mathrm{n}, \mathrm{k} \geq 1, \mathrm{y}=2 \mathrm{~s}, \mathrm{~s} \geq 1$ then $1+\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\mathrm{y}} \equiv 2(\bmod 4)$ which is a contradiction since $z^{2} \equiv 0(\bmod 4)$.

On the Diophantine Equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ where $p$ is a Prime Number
If $\mathrm{k}=2 \mathrm{n}+1, \mathrm{n} \geq 0, \mathrm{y}=2 \mathrm{~s}, \mathrm{~s} \geq 1$ then $1+\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\mathrm{y}} \equiv 2(\bmod 4)$ which is a contradiction since $z^{2} \equiv 0(\bmod 4)$.

$$
\text { If } \mathrm{k}=2 \mathrm{n}, \mathrm{n} \geq 1 \text { or } \mathrm{k}=2 \mathrm{n}+1, \mathrm{n} \geq 0, \mathrm{y}=2 \mathrm{~s}+1, \mathrm{~s} \geq 0
$$

then $\left(\mathrm{p}+2^{\mathrm{k}}\right)^{2 \mathrm{~s}+1}=\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\alpha+\beta=2 \mathrm{~s}+1}=(\mathrm{z}-1)(\mathrm{z}+1)$.
Thus there exist non-negative integers and $\beta$, then $\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\alpha}=\mathrm{z}+1$ and
$\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\beta}=\mathrm{z}-1$, where $\alpha>\beta$ and $\alpha+\beta=2 \mathrm{~s}+1$.
Therefore $\left(p+2^{k}\right)^{\beta}\left(\left(p+2^{k}\right)^{\alpha-\beta}-1\right)=2$.This implies that $\beta=0$.
Then $\left(p+2^{k}\right)^{2 s+1}-1=2$ that is $\left(p+2^{k}\right)^{2 s+1}=3$ which is impossible.
Hence the Diophantine equation $1+\left(p+2^{k}\right)^{y}=z^{2}$ has no solutions.
Lemma 2.2. The Diophantine equation $(p+12)^{x}+1=z^{2}$ has no solution in nonnegative integer x and z where $\mathrm{p}>3$, p are primes.
Proof: Suppose the Diophantine equation $(p+12)^{x}+1=z^{2}$.
For $p>3$ and $p$ are primes of the form $p=4 N+1$ or $p=4 N+3$ where $N$ is positive integer. then $p \equiv 1(\bmod 4)$ or $p \equiv 3(\bmod 4)$ when $y$ and $z$ are non-negative integer.
Since $(p+12)^{x}+1=z^{2}$ is even number. Thus $z^{2} \equiv 0(\bmod 4)$.
We consider 2 cases as follows:

Case 1: If $x=0$, Then $z^{2}=2$ which is impossible.
Case 2: If $x \geq 1, p>3$ and p are primes.
Suppose $(p+12)^{x}+1=z^{2}$, when $x$ and $z$ are non-negative integers.
Subcase 1: If $\mathrm{x}=2 \mathrm{~m}, \mathrm{~m} \geq 1$ and $p \equiv 1(\bmod 4)$ or $\mathrm{p} \equiv-1 \equiv 3(\bmod 4)$,
then $(\mathrm{p}+12)^{x}+1=z^{2} \equiv 2(\bmod 4)$, which is a contradiction since $\mathrm{z}^{2} \equiv 0(\bmod 4)$.
Subcase 2: If $x=2 m+1, m \geq 0$,
Suppose $(p+12)^{2 m+1}=z^{2}-1=(z-1)(z+1)$.
Let $(\mathrm{p}+12)^{\alpha}=z+1$ and $(\mathrm{p}+12)^{\beta}=z-1$ or $(\mathrm{p}+12)^{\beta}+1=\mathrm{z}$.
When $\alpha>\beta$ and $\alpha+\beta=2 \mathrm{~m}+1, \mathrm{~m}>0$.
Therefore $(p+12)^{\beta}\left((\mathrm{p}+12)^{\alpha-\beta}-1\right)=2$
If $\beta=0$, then $(p+12)^{2 m+1}-1=2$, that $(p+12)^{x}=3$ which is impossible.
If $\beta \geq 1$, then $(p+12)^{\beta}=(p+12)^{\alpha}-2$. This implies that $(p+12) \mid 2$
which is impossible. Hence the Diophantine equation $(p+12)^{x}+1=z^{2}$
has no solution.

## 3. Main results

Theorem 3.1. The Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution in non-negative integer $x, y$, and $z$ where $p>3$ and $p$ are primes and $k$ is positive integer.
Proof: Suppose $\mathrm{p}>3, p+12$ and $p+2^{k}$ are primes, we have any primes of the form $p \equiv 1(\bmod 4)$ or $p \equiv 3(\bmod 4)$, where $y$ and $z$ are non-negative integer.
Since $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}, z$ is an even number, then $z^{2} \equiv 0(\bmod 4)$.
We consider 4 cases;
Case 1: If $\mathrm{x}=0$ and $\mathrm{y}=0$ then $z^{2}=2$ which is impossible.
Case 2: If $x=0, y \geq 1$ then $1+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution by Lemma 2.1.

Case 3: If $y=0, x \geq 1$ then $(p+12)^{x}+1=z^{2}$ has no solution by Lemma 2.2.
Case 4: If $x \geq 1, y \geq 1$ then $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solutions.
We consider in 4 subcases as follows;
Subcase 1: If $x=2 m, m \geq 1$ and $y=2 s, s \geq 1$, then

$$
\begin{equation*}
\text { If } p \equiv 1(\bmod 4) \text { then }(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2} \equiv 2(\bmod 4) \tag{2}
\end{equation*}
$$

Equation (2) contradicts equation (1).
Hence the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution.

$$
\begin{equation*}
\text { If } p \equiv-1 \equiv 3(\bmod 4) \text { then }(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2} \equiv 2(\bmod 4) \tag{3}
\end{equation*}
$$

Equation (3) contradicts equation (1).
Hence the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution.
Subcase 2: If $x=2 m+1$ and $y=2 s+1$, where $m \geq 0, s \geq 0$ and $m, s$ are positive integers.

$$
\begin{equation*}
\text { If } p \equiv 1(\bmod 4), \text { so that }(p+12)^{2 m+1}+\left(p+2^{k}\right)^{2 s+1} \equiv 2(\bmod 4) \tag{4}
\end{equation*}
$$

The equation (4) contradicts equation (1).
Hence the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution.

$$
\begin{equation*}
\text { If } p \equiv-1 \equiv 3(\bmod 4) \text { then }(p+12)^{2 m+1}+\left(p+2^{k}\right)^{2 s+1} \equiv 2(\bmod 4) \tag{5}
\end{equation*}
$$

The equation (5) contradicts equation (1).
Hence the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution.
Subcase 3: If $x=2 m+1, m \geq 0, y=2 s, s \geq 1$,
Since $(p+12)^{x}+\left(p+2^{k}\right)^{2 s}=z^{2}$, then $(p+12)^{x}=z^{2}-\left(p+2^{k}\right)^{2 s}$,
then $(p+12)^{2 m+1}=\left(z+\left(p+2^{k}\right)^{s}\right)\left(z-\left(p+2^{k}\right)^{s}\right)$. Thus there exist non-negative integers $\alpha$ and $\beta$ then $(p+12)^{\alpha}=z+\left(p+2^{k}\right)^{s}$ and $(p+12)^{\beta}+\left(p+2^{k}\right)^{s}=z$
when $\alpha>\beta$ and $\alpha+\beta=2 m+1$. Therefore $(p+12)^{\beta}\left((p+12)^{\alpha-\beta}-1\right)=2\left(p+2^{k}\right)^{s}$

$$
\begin{align*}
& \text { If } \beta=0 \text {, then }(p+12)^{2 m+1}-1=2\left(p+2^{k}\right)^{s} \equiv 2(\bmod 4)  \tag{7}\\
& \text { If } p \equiv 1(\bmod 4) \text { then }(p+12)^{2 m+1}-1 \equiv 0(\bmod 4)
\end{align*}
$$

Equation (8) contradicts equation (7).
Hence the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution.

$$
\begin{equation*}
\text { If } p \equiv-1(\bmod 4) \text { then }(p+12)^{2 m+1}+\left(p+2^{k}\right)^{2 s}=z^{2} \equiv 2(\bmod 4) \tag{9}
\end{equation*}
$$

Equation (9) contradicts equation (1).
Hence the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution.
If $\beta \geq 1$, from (6) then $(p+12)^{\alpha}=(p+12)^{\beta}+2\left(p+2^{k}\right)^{s}$ where $\alpha>\beta$ and
$\alpha+\beta=2 m+1$ then imply that $(p+12) \mid 2\left(p+2^{k}\right)^{s}$ which is impossible since $p+12$ is an odd number but $2\left(p+2^{k}\right)^{s}$ is an even number.
Hence exponential Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$, has no solution.
Subcase 4: If $\mathrm{x}=2 \mathrm{~m}, m \geq 1, y=2 s+1, s \geq 0$,

On the Diophantine Equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ where $p$ is a Prime Number
then $(\mathrm{p}+12)^{\mathrm{x}}+\left(\mathrm{p}+2^{\mathrm{k}}\right)^{2 \mathrm{~s}+1}=\left(\mathrm{z}+(\mathrm{p}+12)^{\mathrm{m}}\right)\left(\mathrm{z}-(\mathrm{p}+12)^{\mathrm{m}}\right)$.
where $\alpha>\beta$ and $\alpha+\beta=2 s+1$.
then $\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\alpha}=\mathrm{z}+(\mathrm{p}+12)^{\mathrm{m}}$ and $\left(\mathrm{p}+2^{\mathrm{k}}\right)^{\beta}+(\mathrm{p}+12)^{\mathrm{m}}=\mathrm{z}$
From the equation (10) then $\left(p+2^{k}\right)^{\alpha}=\left(p+2^{k}\right)^{\beta}+2(p+12)^{m}$ This implies that $\left(\mathrm{p}+2^{\mathrm{k}}\right) \mid 2(\mathrm{p}+12)^{\mathrm{m}}$ which is impossible since $\left(\mathrm{p}+2^{\mathrm{k}}\right)$ is an odd number and $2(\mathrm{p}+12)^{m}$ is an even number.
Hence the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution.
Corollary 3.1.1. The Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=m^{4}$ has no solution in non-negative integer $m, x$ and $y$ where $k$ is positive integer, $p>3$ and $p$ are primes.
Proof: Suppose $m^{2}=z$, then $(p+12)^{x}+\left(p+2^{k}\right)^{y}=m^{4}$, which has no non-negative integer solution by Theorem 3.1.

Corollary 3.1.2. The Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=m^{2 n+2}$ has no solution in non-negative integer $\mathrm{m}, \mathrm{x}$ and y where k is positive integer, $\mathrm{p}>3$ and p are primes.
Proof: Suppose $m^{n+1}=z$ then $(p+12)^{x}+\left(p+2^{k}\right)^{y}=w^{2 n+2}=z^{2}$ has no nonnegative integer solution by Theorem 3.1.

## 4. Conclusion

In this paper, we proved that the Diophantine equation $(p+12)^{x}+\left(p+2^{k}\right)^{y}=z^{2}$ has no solution where $x, y$ and $z$ are non-negative and $n$ is positive integer. There are infinitely many the exponential Diophantine equation that has no solution which need to be proved.

Acknowledgement. The author would like to thank the reviewers for putting valuable remarks and comments on this paper.

Conflict of interest. The authors declare that they have no conflict of interest.
Authors' Contributions. All the authors contribute equally to this work.

## REFERENCES

1. S.Aggarwal, On the exponential Diophantine equation $\left(2^{2 m+1}-1\right)+13^{n}=z^{2}$, Eng. Appl. Sci. Lett., 4(1) (2521) 77-79.
2. N.Burshtein, On Solutions of the Diophantine Equations $p^{3}+q^{3}=z^{2}$ and $p^{3}-q^{3}=z^{2}$ when $p, q$ are Primes, Annals of Pure and Applied Mathematics, 18(1) (2018) 51-57.
3. N.Burshtein, On the Diophantine equation $2^{2 x+1}+7^{y}=z^{2}$, Annals of Pure and Applied Mathematics, 16(1) (2018) 177-179.
4. N.Burshtein, On the Diophantine equation $p^{4}+q^{3}=z^{2}$ and $p^{4}-q^{3}=z^{2}$ when $p \geq 2$ is prime, Annals of Pure and Applied Mathematics, 21(1) (2020) 15-17.

Vipawadee Moonchaisook, Watakarn Moonchaisook and Khattiya Moonchaisook
5. N.Burshtein, On the Diophantine equation $p^{x}+(p+5)^{y}=z^{2}$, when $p+5=2^{2 u}$, Annals of Pure and Applied Mathematics, 18(1) (2020) 41-44.
6. N.Burshtein, On the Diophantine equation $p^{x}+q^{y}=z^{3}$, when $p \geq 2$, $q$ are primes and $1 \leq \mathrm{x}, \mathrm{y} \leq 2$ are integers, Annals of Pure and Applied Mathematics, 18(1) (2020) 13-19.
7. N.Fernando, On the Solvability of the Diophantine equation $p^{x}+(p+8)^{y}=z^{2}$, when $p>3$ and $p+8$ are primes, Annals of Pure and Applied Mathematics, 18(1) (2018) 9-13.
8. S. Kumar, S.Gupta and H. Kishan, On the non-linear diophantine equation $p^{x}+$ $(p+6)^{y}=z^{2}$, Annals of Pure and Applied Mathematics, 18(1) (2018) 125-128.
9. S.Kumar, S.Gupta and H.Kishan, On the non-linear diophantine equation, $61^{x}+$ $67^{y}=z^{2}$ and $67^{x}+73^{y}=z^{2}$, Annals of Pure and Applied Mathematics, 18(1) (2018) 91-94.
10. S.Kumar, S.Gupta and H.Kishan, On the solution of exponential Diophantine equation $p^{x}+(p+12)^{y}=z^{2}$, International Journal of Mathematics and Computer Science, 11 (1) (2019) 01-19.
11. V.Moonchaisook, On the non-linear diophantine equation $p^{x}+\left(p+4^{n}\right)^{y}=$ $z^{2}$ where $p$ and $p+4^{n}$ are primes, Annals of Pure and Applied Mathematics, 23(2) (2021)117-121.
12. A.Svarnamani, On the Diophantine equation $p^{x}+(p+1)^{y}=z^{2}$, International Journal of Pure and Applied Mathematics, 94(5) (2014) 689-692.

